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Here’s houst® thmk of cherqy E(¢) &Nof)o(»er /f,)[(-). (='ve secin thet:

A(‘ca vhler the A o‘F (ﬂ, 'Frbn«. tza 60 "6"6 e
:nc.‘l‘ cc;-igb{ (conPsond/fro&uo&a) Fmtu. tca 'fo f'-'é ( )

Lc{'; (‘eu.:r\t:: ﬁ‘ns, bc’ nof!ﬁ f‘\cd :

b
() The (Pt sidle of (%) is jost the micgral So. p(B)AL.
(D The r{&ké side of (’d l‘us‘g\lud-’ /0

Flha.( f'ea-tgm. Mminus ol ma.,( < rc&&m

there EM) is or =nergy fonchion.

(3) AS wev Secih ,

E (é)=f)[{-).
PL{:('N;/& &l‘ o'(: 'ﬂ\.ls (V\'éb (’é )ﬁ:\/c_s
(o pDAt = E(5)-Eled, where E0)= pl)

CoOL FACT: oll af hs Jefcu& wly on the relotionship E '[ﬁ)-'-" I){ t) ,
NOT on the “real mrl&”mcamma o E[f)a.:wQ l:(f). Conclosionr

I€ Flx) s auy fonction soch tha Flc)=f0¢) on Layhl,

then . (FTc v. 1)
5 £6)8x = F(h)-Fla)

(Tn werds: to mbegde, antidifferitiote )
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Solution .

We neef to Fud on _antdernadive of "/Xf Prcanmg *fund
rvr\c"lov\ F(X) u.n'H'\ FI(X)="I'X??

o ; 1.2
' 5«1 ;ﬁ"‘“ﬁ owdl checking ) x(,..g fud that Flx)= 3% works,

sSince - 2 a
F (X)z-_&_ ix3]= i.SX ‘-‘-LIIX. \/
Ax | 3 3
So, ¢ FTC v. %, g 34 3
" 55 R = F(5)-Fo) = 3+ 5~ 30
= 4-[35 = 500.

—

- 3 3
Peffer sfro:‘ceﬁlas coming seon.

— b
Trtarmission Lets wrtke FOo for FO)-Fo). Than FTC v. 1 reads

b
S: flx)dx = F(x)/a, where F{x)=f0c)dx. (FTC v.Q)

MOrc =.¥M]>L=5 (comro.re u.»u'ut Some ear,ue.r' rg,S{_)/{S):
3) 5 dxax : a2l = 2-5% 2.0%= s0.

on antidervotwe of 4x is &Xf . Eaxa_] =Yy,

Ax
T ™
3) § . smb)dx = —cos(X)/_."_ = —cos(m) - (-cos(-))
=-(-1)-(-¢-1)) =0O.
Gh w{\&w\/a:‘wc o'p cos(X) I —Sln[X) (673%5‘3:5/&%%)
5§ x&x=£/q= $R o) - 1Y .
R B WP W 3

Ch o.hf\&sruafwc of' X 1S x&/a'l.
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g 3/a 16 Q
5 Sl¢x-i &xrs%_(x-i) /“/ =&((6-133/3(l—l)3/“ -a(s 0™

i ——
3 3
Hfu a.h'l'tcﬂcrvv. ISD\“[' oLVlous bu’é 0V fan cﬁcck :4 =_5_l. 3
) DUty 3\/ )
=2 /125 = 7.45356...
L /4 S -
63 fo cos(Ax) dx = s}n(ax)/ = sm(dH)-sm(2-0) = 1-0 = 1.
T a b 2 2 A
_guess and d\c\zk bhe ortidervatne
1 i . .
N aetay = &) . 7IT0 i2la = 156.5190a...
] lo 7 7
5
&) dx = xly= 7-(-2)=9

5
R notation: this means S-a, 1 A«
(mffarafc the constost Funclbon 'F(X)'—'l).

4 1
Q)Si dx =S 4 Ax ""a.rc’éo.h(XJ/ = arc:fom(l)—a.rtfah(-l)
1+x® -1 1+Xa -z T
"1 = Y -C)=2
(since f&h(%)"i and] ﬁ&h(‘%)‘" '-1)-
a
0) S& e,X/‘;2 &x=?
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=
Theret ho nice artideovotve of £(x)=vVAT 7 so we cont use
FTC. But we can use Riemann sums. Eéﬁ‘ US(!‘S l=ft ewoi?ow{s ond)
h= 10,000, ye £rud) ﬁﬁa-'f

S& -x%/a

e = A % 0.95%49173...
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